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EXQW\P‘E 1.
Find gGCos(xa)Jx.

Selvtion. . 3
T/\cg{_ is thet the méﬁra-( contains SDM&'él\(liS — r\O-w\c»Ly, X =

(;.\L\osa- Acuvgfm —_— ho-mc,((,) D\X - l'S aJso Pre.&-,

The 4rick is to coll that “somethmg  u:

v=x3
Thew Av
Ax = dx,
So *
duv = Axdx.
So

>
S&X s(xa)lél_xl = SCDS‘(U& =smn)+C = sm()(a)"'c.
= "> © Pl bock in for v

Chex.k o .
A [ sinlx™+c]= C.os(xa).i [x"]+0

dx %
= c_os(xa) cdx = RX@OS(XSI). '/

~ Tlfus wor ks n" We imagine 'Hna-" dv/&(% rca.//y e "Hlﬁ
gLuo‘(:te-vCé of nfindesimals dv cnd dx.
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Examp l= Q. (/\/ote the werk ! " the mgim- ”) \/"(d\m a L
' hose dernvotine

S Y 5 26
|5x/,(9~+x ) A&Xl u= &"'X ono ap co.rs)
V—/ do = 5x (. FFarcnbade
= Su%du =g +C s A luslinply
5 37 7 &5 }
= (Q+x )
A7
CDIY: c,lmol(.]
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Scsm(X) s(x)dx v =smlx)

-Se, &U sm(x) 5L = c.os(x)

=etC=e +C. Ax )

Check: <in du = cosx)dx
_& [e (x+ :| =& (X)css(x)*‘o
= Lo

EXo.m;p(e,"l y

X = -l'L}

_e._ u=e X
S [+(e +"|) du=e.xc9)(
= S | dv = aretonlu)+C
[+ o®

=oreton (eﬁ "l) +C.

® (Ve went richt from v=... to dy = cen Sklfm the s{'cP

,& S /Se-'{'o.m

dx
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Examp ‘c 5

' S sin(in(2) d= v=In(32)
Z dv=_1 4z
= Ssinl0)u= —coslv)+C z
= -ms(’h(?))"'c
E xomple 6.
‘ TXSM(XO? I\&x =X "'\ oLr SULS‘h‘}u'I:lov\
= (sm(0)-{ du du = Ax dx }f s o did,
D\ [ _L = X&X 'l: our m‘[:
=) smlu)do =~ _C'OS(”;"'C has only X X)
== east)+C, so Lrade by 2

our u- SoAS‘l"r,'u{‘th ves OUr dlu an tha.v\feg c.onsfav\‘é
ch, like & ‘\\usf ﬂlvi 6(1 'Hus foctor.

. \S‘Xa 3;9 [ =X 3
= (e’ Qu) = éS€U&u cﬂu= a&x
lS D \Z: %_*- &cﬂx
=7+ 3
° =3e"+C.
Example Q d
! e,_,YaQy = S)eu( 70) u=Ty
| U V) 7 &\J"" 7&y
=5 e'du = 7erC=T7eC du =dy
=
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J coslx )JX =7

(We. could 'I';y v= X) bt then du=Yx" X, 0nd what db voe Ao

Foct® sometimes sobshiction s (Also: cos(x™) hos no  pice
a.h"it&erl\/o:"lu:.)

Next time: sués"‘nfuflou (n Jef;m'!e mf:jrcx.ls.



